99 B3 L P BT B A EE

SEFCRE

1. fEHEEE (1,2) WIERREIE x i IE y BATE R ZARH, ke NI = AR EE.

2. B —1E 5 REMFRELER gx) WIR2BEE, REHELDHETREIRMERS g(x) 7TAERK
gx)=x"+ax*+bx*+cx*+dx+6,H% a,b,c,d BEH.

3. BREA=ZATN=MEIEES R A=(0,0), B=(1,00 1 C=(0,4), % Q= (x,y) BL=AF
PIHRE— 82, BAKEL Q FIEL Q BI={EIARS AL Z AR R/IME (B |Q — Al+|Q — B|+|Q - C| HY
w/IME).

At R B

4 HREEH f (x,y) = x +y2 EE{TE {(x, »)

X4yP= 1} AR, Wk B A R

4224 —682+/3 66+ 1232+/3 » =



10.

. J0~E, AABC, Z/C=90°, AD=DE=EB, /ACD=a, /DCE =3, /ZECD =17,k

Bz AL R 2 99 B RS — RN EE (FERERMFERETID
HERAES
REHRY: MHAEREEE L, THEERHER.

. RAR%EK log, x +1log, 3 < % HfE.
. B—#RER 15, DI —E= AT, —EATRA—E, 55 =& mE e &/ ME .

. sina-siny
sin 8
?

A

=

o'

. EHIER AR 2 +y2+2° =100, B 0 FTEERFE ARERS x+2y — 2z =6, L mEE

30 FRER R E B 2
- -1 2 1 1 5 -5 .
g i YEE _EEL XL VS 2T L oA (HEERE
-~ 1 —2 2 2 3 —6

N).

EAEE=AF, HE_EVTRER 6, R=AVHBENRAIERM?

1 1 1
.%meN,Sﬁlimnz(ﬂ——__ ..... ):?

n—0o0

n n+l n+2 n+m

AABCH,/ABC=90°,AB=1,EEE AC | D, Wi AB=CD=1,# ZCBD=30° 3K AC
5.

.%&ﬁnEﬁE%%%ﬁﬁﬁﬁ%l%%%%%%M+WLXMﬁﬁ£

fNlEl, 4% ABCD,AB =2v6, BC =6V2, A AB,AD BEKHPERR P, REHRE B H

e
B C
P
A D




[a—

10.

SRALE RS 99 BE LR —REETHE (FERERBEEREN)

=

HERERS
V3<x <278 0<x<1
225
12vV/3+16+4n
1
3
. x+2y—2z+@:0
25
x—1+y+2+z+1,x—1+y+2+z+1
13 -5 —4 1 —-23 32
24
m(m+1)
2
V2
[13)
3
571 —6v3



